H = 0ol & AFS A A
A2 MEETAIAA SN ARE
HH: 4229 HEE 2P
el DiEd=sk 2l (Gt H2)
AR .2 - HH . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH SEE Hnz=2
shoTa e = T en - Oil &koH e=
ot A A 12,178,116 19,035,824 16,857,708
[ 1,050,000
Al 11,128,116
AT 5,178,116 9,035,824 3,857,708
[ 1,050,000
Al 4,128,116
ore 29| oHEE 2ie| 2,678,116 4,035,824 1,357,708
[ 1,050,000
Al 1,628,116
OrSa4c 22 2,678,116 4,035,824 1,357,708
[ 1,050,000
Al 1,628,116
OISasE 22| 122,500 80,000 42,500
201 LEr2AY| 102,100 57,600 44,500
01 At22t2IHI 51,100 56,600 5,500
OYer2d) 51,100
OAXEAA 22 43,000,000 x 14! 43,000
o=RY A2 100,000 x 14! 100
oXtEAXI2 8,000,000+ 14! 8,000
® 22294 51,000 1,000 50,000
O0ISA4E AIE2 SR
51,000,000+ 14l 51,000
206 THZHI 20,400 22,400 A2,000
01 XH2HI 20,400 22,400 A2,000
OX2HI 20,400
SEL(RES 13,5002 %1,0005 13,500
o2 ALAlCE 50,0002 *58FA 250
o002 22 H 90,0002 *58HA 450
o AZ(HIERE) 30,0008 * 140 4,200
ollSALTAIE X2 27 2 W2
2,000,000 14! 2,000
OISA4C0IR SEHT0 AT2AL 2,800 5,600 22,800
301 LBtE A3 2,800 5,600 A2,800
14 OIEtB A= 2,800 5,600 A2,800
ORL(2A) HUHX 350,000 +8%H 2,800
OISALE AlANE 2 SX2e 452,816 600,224 A147 408
101 QIAH 102,816 100,224 2,59
M IIH2ZERSES 102,816 100,224 2,592
OAlE 22| ol 95,2002 *90 % x 122! 102,816
401 AlEHIL 201 350,000 500,000 150,000
01 Al&ZHI 350,000 500,000 150,000
OAl&H] 350,000




A Aot AEA A Y
M r2E2 oHEA e
ol Olsgsk 22 EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
oltstsr =ZIHd & H==& HE
150,000,000 *14] 150,000
oli2aaS Al X2
100,000,000 * 14! 100,000
oS4+ A4 GIS DB 2=
100,000,000 14 100,000
iS4+ 2z & 2 B4 600,000 800,000 £200,000
401 AlEBIYL S CTHYI 600,000 800,000 £200,000
01 Al£ZHI 600,000 800,000 200,000
Ontsats=E AEZAH MY HX S)
400,000,000 » 14 400,000
OitSd+r =22 ui & 2+
200,000,000 x 14! 200,000
AR EEAENS(HEAY) 1,500,000 1,050,000 450,000
< 1,050,000
Al 450,000
401 AlEBIYL S CHYI 1,500,000 1,050,000 450,000
< 1,050,000
Al 450,000
01 AlZHI 1,490,000 1,040,000 450,000
OATESZAIE HEAY
1,490,000,000& 14! 1,490,000
< 1,043,000
Al 447,000
03 A& S CHYI 10,000 10,000 0
OARZEZAIE HEFALS
10,000, 000& » 14 10,000
< 7,000
Al 3,000
Hees(as=En) 2,500,000 5,000,000 2,500,000
LA XIE 2,500,000 5,000,000 22,500,000
LAk XIE 2,500,000 5,000,000 22,500,000
701 JIEtSI HSHES 2,500,000 5,000,000 22,500,000
03 BIIGEESIAN=EES 2,500,000 5,000,000 2,500,000
O+ AIEEE3 &=
2,500,000,0002 14! 2,500,000




H = 0 & AFS & Al A
A2 MBS AIA SA L BIRED
MM HRES(ot=T1)
=l WRAAXE EER=E)
AR R BB B(3H) - MSAY - BES 0l arey dix HIRS2
d= - A - R F 45 . 0l & =
ol=E 1t 7,000,000 10,000,000 /3,000,000
MHPES (o= 7,000,000 10,000,000 23,000,000
== DNES 7,000,000 10,000,000 3,000,000
LHEHH KIS 7,000,000 10,000,000 3,000,000
701 JIESI HSHE=2 7,000,000 10,000,000 3,000,000
03 BIIESEIHN=2EEZ 7,000,000 10,000,000 /3,000,000
Odt=ZAIHELESH HEZ
7,000,000,000& * 1A 7,000,000




